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[ǳǶΛܪǳǙܪ<ǓǙͮ

eavilibrivm constant : an expression that Describes

thÉbIween the amount of products

and reactants at equilibrium

@ equilibrium : FORWARD RATE = REVERSE

✗ ←→ y

SOLVING FOR K

+ Hz ⇐ NH
] (g)N

21g) (9)

1) Balance rxn

Nz (9) t 3A , (g)
⇐ 2MHz (9)
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What Does K tell you ?

stability

K > 103 products are more stable

- forward rxn is favored

K = I neither forward or reverse is

more stable

K < 10-3 reactants are more stable

arm .

ropvctsreactants



"m=÷÷:÷;:÷÷
( Ppropuot ,)

coefficients

Kp =
-

( P reactants)
coefficients

concentration -_ Iu : ¥,
n = motel

1- = temperature ( K )
V : volume ( L)

R = universal gas constant

what Doesn't go in the eavilibrivm constant K ?

1) pure solids - NO CONC
.

>
NOT POSSIBLE

2) PURE LIQUIDS - so much
,
any change

y insignificant

H2O
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"""""④""""""""
ratio at any point in rxn

→
tell you if it's at equilibrium

Q < K : forward rxn is favored

Q > K : reverse rxn is favored

Q = K : equilibrium



in an experiment
,
2.0④ 012 (9) was seated into a

rxn vessel of volume 2<0 L and heated to 1000 - K
.

calculate K .
'

[Claus) I 2 Cl ( a)]

① =→e@ 1000 k ]

k=EI?
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